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(13) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z
ñZm¶y d ApñW

1) MoVmg§ñWm
2) aº$m{^gaU, ídgZg§ñWm
3) nMZg§ñWm
4) CËgO©Zg§ñWm
5) ñZm¶y d ApñW g§ñWm
6) J«§Wr
7) amoJà{VH$maH$Vm

1) MoVmg§ñWm
1) S>moHo$ XwImnV ‘Ü`‘ åhUyZ dJuH¥$V Ho$br OmVo, Oa ½bmgJmo H$mo‘m ñHo$b (GCS) ñH$moAa _______ Agob.

1)  LOC gh GCS 14 qH$dm 15 2)  GCS 9 - 13
3)  GCS 3 - 8 4)  GCS < 3

1) A head injury is classified as Moderate, if the Glasgow coma scale (GCS) score is ______.

1) GCS 14 or 15 with LOC 2) GCS 9 - 13

3) GCS 3 – 8 4) GCS < 3

2) AH$mbr ao{Q>Zmon°WrÀ`m ~m~VrV, Oa aº$d{hÝ`mg§~§Yr Am{U Aìh°ñŠ ẁba ao{Q>Zm `m§À`m‘Ü ò gr‘m§H$Z aofm {Xgbr, Va
Vr ______ Xe©dVo.
1) Q>ßnm 1 2) Q>ßnm 2 3) Q>ßnm 3 4) Q>ßnm 4

2) In case of Retinopathy of prematurity, if a demarcation line is seen between the vascular and

avascular retina, then it indicates ______.

1) Stage 1 2) Stage 2 3) Stage 3 4) Stage 4

3) ............ hr Am¡fYo ‘Ü¶dVu ‘‚mmg§ñWm, nMZg§ñWm ¶m§À¶mdarb g§doXr MoVmV§VyÀ¶m Q>moH$mda ~Õ amhVmV.
1) H°$Þm{~Zm°B©S>g 2) Amo{nAm°B©S²>g 3) ‘m°{’©$Z 4) H$moH$m-AëH$bm°B©S>g

3) ............ are drugs which bind to receptors present in central nervous system and gastro-intestinal-

tract.

1) Cannabinoids 2) Opioids 3) Morphine 4) Coca-alkaloids

4) ñnm¶Zb H$m°S>©À`m g^modVmbÀ`m g~A°a°ŠZmoBS> ñnog‘Ü ò ........... Q>moMbr OmVmV.
1) no[aS>çyab B§OoŠeÝg 2) B§Q́mgoao~«b B§OoŠeÝg 3) B§Q´mH$m{S>©̀ mH$ B§OoŠeÝg 4) B§Q´mWoH$b B§OoŠeÝg

4) .............. are made into subarachnoid space that surrounds the spinal card.

1) Peridural injections 2) Intracerebral injections

3) Intracardiac injections 4) Intrathecal injections
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5) Mohè`mÀ`m ‘‚mmV§VyMm bmoAa ‘moQ>a Ý ỳam°Z njmKmV Imbrb n[apñWVt{edm` hmoD$ eH$Vmo?
1) ìhm`ab BÝ’o$ŠeZ 2) goao~«moìhñHw$ba AnKmV
3) n°amoQ>rS> eó{H«$ òXaå`mZ 4) grnr A±Jb Q>çy‘a eó{H«$ òXaå`mZ

5) Lower Motor Neuron paralysis of facial nerve may occur in following conditions except ?

1) Viral infection 2) Cerebrovascular accident

3) During parotid surgery 4) During CP angle tumour surgery

6) nyd©dVu ‘o{S>`mpñQ>Zb dñVw‘mZmÀ`m gm‘mÝ` H$maUm§‘Ü ò dJiVm gd© g‘m{dï> AmhoV
1) Wm`‘mo‘m 2) Wm`am°B©S> dñVw‘mZ 3) Q>oamQ>mo‘m 4) Ý ỳamo{’$~«mo‘m

6) The common cause of anterior mediastinal mass include all except

1) Thymoma 2)  Thyroid mass 3) Teratoma 4) Neurofibroma

7) 'ß ẁ{nbar hm`nmonm`m°Z' Mo gmXarH$aU V§Vw‘` ~mhþë`mbm Añnï> H$aUmao ______ gh nm{hbo OmVo.
1) Šbo~{gEbm Ý ỳ‘mo{Z`m 2) JQ> ~r ñQóßQ>moH$m°H$g
3) ZmoH$m{S>©̀ m bKwJ«h 4) ‘m`H$mo~°ŠQ>o[a`‘ j`amoJ

7) The presentation of ‘Pupillary hypopyon’ with fibrous obscuring the pupil is seen with ______.

1) Klebsiella pneumoniae 2)  Group B Streptococcus

3)  Nocardia asteroides 4)  Mycobacterium tuberculosis

8) g|Q´b nm°ÝQ>mBZ Am°ñ‘mo{Q>H$ {S>‘m`{bZoeZ qgS´mo‘Mr d¡{eï²> ò dJiVm gd© g‘m{dï> AmhoV.
1) {S>g’°{J`m 2) {S>gmW©[a`m (~mobÊ`mV AS>MU)
3) {S>ßbmo{n`m 4) S>m`ñQ>mo{Z`m

8) Features of central pontine osmotic demyelination syndrome include all except.

1) Dysphagia 2) Dysarthria (Difficulty speaking)

3) Diplopia 4) Dystonia

9) Imbrbn¡H$s H$moUVo [aìh{g©~b H$m~m©‘oQ> BZ{h{~Q>a Am¡fY AëPm`‘a amoJmÀ`m CnMmamgmR>r dmnabo OmVo?
1) Q>°{H«$Z 2) J°b§Q>m‘mBZ 3) [admpñQ>½‘mBZ 4) S>moZono{Pb

9) Which among the following drug is a reversible carbamate inhibitor used for the treatment of

Alzheimer disease ?

1) Tacrine 2) Galantamine 3) Rivastigmine 4) Donepezil

10) [agoßQ>aàVr A{VCƒ AmH$f©U Am{U Cƒ Am§V[aH$ {H«$`mj‘Vm Agbobo Am¡fY åhUOo ......
1) A°°Jmo{ZñQ> 2) {damoYr 3) Am§{eH$ A°°Jmo{ZñQ> 4) CbQ> A°°Jmo{ZñQ>

10) A drug with high affinity for receptor and high intrinsic activity is a/an .......

1) Agonist 2) Antagonist 3) Partial agonist 4) Inverse agonist

11) d¡{eï²>`nyU©nUo, hm`naQ>opÝgìh S>moHo$XwIr ........... CX²̂ dVo
1) g§Ü`mH$mir Am{U níMH$amoQ>r ^mJmV 2) gH$mir Am{U Q>|nmoab/H$U©H$amoQ>r ^mJmV
3) gH$mir Am{U níMH$amoQ>r ^mJmV 4) amÌr Am{U ’«§$Q>b/ ^mbH$amoQ>r ^mJmV

11) Characteristically, a "hypertensive headache" occurs in ..........

1) Evening and in occipital region 2) Morning and in termporal region

3) Morning and in occipital region 4) Night and in frontal region
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12) Imbrbn¡H$s H$moUVm EH$ b¢{JH$ g§H«${‘V amoJ Zmhr?
1) CnX§e 2) ny¶‘oh 3) An‘ZñH$Vm 4) Šc°{‘{S>`m

12) Which of the following is NOT a sexually transmitted disease?

1)  Syphilis 2)  Gonorrhoea 3)  Dementia 4)  Chlamydia

13) {df{Z{‘©Vr H$aUmè¶m ...... ‘wio hmoUmam, {Q>Q>°Zg hm ‘‚mmg§ñWoMm EH$ J§̂ ra amoJ Amho.
1) {dfmUy 2) { e¡dmb 3) {OdmUy 4) { ~waer

13) Tetanus is a serious disease of the nervous system caused by a toxin-producing:

1)  virus 2)  algae 3)  bacteria 4)  mould

14) Ag‘{‘V J^m©e`mÀ`m dmT>rda à{V~§Y n[aUm‘ H$aV Zmhr :
1) `H¥$V 2)  ‘|Xy 3)  ËdMoImbrb Ma~r 4) ñZm ỳ

14) An asymmetrical Intra-uterine Growth Restriction does NOT affect :

1)  Liver 2)  Brain 3)  Subcutaneous fat 4)  Muscle

15) Imbrbn¡H$s H$moUVo ho nmoñQ>[a`a n°[aEQ>b bmo~À`m OI‘m§Mo d¡{eï²>`nyU© d¡{eï²>` Zmhr?
1) B§{Ð`OÝ` eÌwËd 2) A°°¾mo{g`m Am{U A°°H°$ëHw${b`m
3) ‘moQ>a {S>g’o${g`m 4) H$ÝñQ´ŠeZb Aà°pŠg`m

15) Which of the following is NOT a typical feature of posterior parietal lobe lesions?

1)  Perceptual rivalry 2)  Agnosia and acalculia

3)  Motor dysphasia 4)  Constructional apraxia

16) g~A°amŠZmoBS> aº$òmdmÀ`m d¡{eï²>`nyU© d¡{eï²>`m‘Ü ò `m{edm` gd© g‘m{dï> AmhoV :
1) ~hþVoH$ n[aUm‘ {d{bgÀ`m dVw©imÀ`m EÝ ẁ[aP‘À`m ’$mQ>Ê`m‘wio hmoVmV
2) grQ>r ñH°$Z ho n{hë`m ng§VrMo B‘oqOJ Amho
3) gd© àH$aUm§‘Ü ò S>m`½Zm°pñQ>H$ Ebnr Amdí¶H$ Amho
4) dmgmoñnmP‘‘wio {dH¥$Vr bjUr` Amho

16) The characteristic feature of subarachnoid Haemorrhage includes ALL EXCEPT :

1) Most result from rupture of an aneurysm of the circle of willis

2) CT scan is the imaging of first choice

3) Diagnostic LP is necessary in all cases

4) Morbidity is significant due to vasospasm

2) aº$m{^gaU, ídgZg§ñWm
1) WHO À`m ‘Vo JamoXanUmV Aeº$nUm åhUOo {h‘mo½bmo{~Z ........ J«°‘/100 ml qH$dm Ë`mhÿZ H$‘r AgVmZm.

1) 9 J«°‘/100 {‘br 2) 10 J«°‘/100 {‘br 3) 11 J«°‘/100 {‘br 4) 12 J«°‘/100 {‘br
1) According to WHO anaemia in pregnancy is when the haemoglobin is ........ gms/100 ml or less.

1) 9 gms/100 ml 2) 10 gms/100 ml 3) 11 gms/100 ml 4) 12 gms/100 ml

2) à‘wI aº$dm{hZrÀ`m XwéñVrZ§Va `emMm Xa ______ Amho.
1) 40 - 50 % 2) 50 - 60 % 3) 70 - 80 % 4) > 90%
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2) The success rate after repair of major vein is ______.

1) 40 - 50 % 2) 50 - 60 % 3) 70 - 80 % 4) > 90 %

3) AmKmVOÝ` hm`{’$‘mÀ`m ~m~VrV, Oa bmb aº$noetMm AÜ`m©hÿZ A{YH$ AJ«̂ mJmMm g‘mdoe Agob Va Vo ______

Mo AgVo.
1) J«oS> I 2) J«oS> II 3) J«oS> III 4) J«oS> IV

3) In case of traumatic hyphema, if there is gross layering of the red blood cells involving more than

half of anterior chamber, then it belongs to ______.

1) Grade I 2) Grade II 3) Grade III 4) Grade IV

4) pìhQ>°{‘Z Ho$ Imbrb KQ>H$m§À`m g§ícofUmgmR>r Amdí`H$ Amho dJiVm:
1) ’°$³Q>a  IX 2)’°$³Q>a  X 3) ’°$³Q>a  III 4) ’°$³Q>a  II

4) Vitamin K is essential for the synthesis of the following factors except :

1) Factor IX 2) Factor X 3) Factor III 4) Factor II

5) {h‘mo½cmo~rZ ~Ôb gË` H$m` Amho?
1) F ‘Ü ò XmoZ Aë’$m Am{U XmoZ S>oëQ>m MoZ AmhoV
2) A2 ‘Ü ò XmoZ Aë’$m Am{U XmoZ J°‘m MoZ AmhoV
3) H$m~m}{ZH$ A°{gS>Mm EH$ ‘hÎdmMm ~’$a Amho
4) bmb noet‘Ü ò Am°pŠgOZ ~§YZ 2, 3 - S>m`’$m°ñ’$mop½bgaoQ>Zo dmT>bo Amho

5) What is true regarding the fact about Hemoglobin?

1) F comprises two alpha and two delta chains

2) A2 comprises two alpha and two gamma chains

3) Is an important buffer of carbonic acid

4) Oxygen binding is increased by 2, 3 – diphosphoglycerate within the red cells

6) .......... ¶m noer aº$m{^gaU H$aUmè`m noet‘Ü ò {hñQ>m‘mBZMo à‘wI òmoV AmhoV.
1) E[aW«mogmBQ²g 2) {bå’$mogmBQ²g 3) ~ogmo{’$ëg 4) Ý ỳQ́mo{’$ëg

6) .......... are the chief source of histamine in the circulating cells.

1) Erythrocytes 2) Lymphocytes 3) Basophils 4) Neutrophils

7) ßboQ>boQ> {Z{‘©VrÀ`m {Z §̀ÌUm‘Ü ò gm‘rb Agbobo nXmW© ......... Amho.
1) ßbmpñ‘ZmoOoZ 2) W«moå~monmoE{Q>Z 3) ’$m`q~«OZ 4) E[aW«monmoE{Q>Z

7) The substances involved in the control of platelet production is  .........

1) Plasminogen 2) Thrombopoietin 3) Fibrinogen 4) Erythropoietin

8) ßbmÂ‘m Á`m‘YyZ JmoR>Ê`mMo KQ>H$ H$mTy>Z Q>mH$bo OmVmV Ë`mbm ........... åhUVmV.
1) {bå’$ 2) {ga‘ 3) ßbmP{‘Z 4) ßboQ>boQ>

8) Plasma from which the clotting factors are removed is known as ...........

1) Lymph 2) Serum 3) Plasmin 4) Platelet
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9) aº$àdmhmVrb Amåb ẁº$ Am¡fYm§Mo à‘wI dmhH$ à{WZ ........... ho Amho.
1) ½bmoã ẁ{bZ 2) Ho$am{Q>Z 3) ’o$ar{Q>Z 4) A°ëã ẁ{‘Z

9) The major carrier protein of acidic drugs in the blood stream is ...........

1) Globulin 2)  Keratin 3) Ferritin 4) Albumin

10) E[aW«mogmBQ> {S>ñH$Mm AmH$ma ........... Amho.
1) {Û~{hd©H«$s 2) AdVb 3) CÎmb 4) {ÛA§Vd©H«$s

10) The shape of erythrocyte disc is ...........

1) Biconvex 2) Concave 3) Convex 4) Biconave

11) Ý ẁQ´mo{’$ëg g§H«$‘UmÀ`m joÌmVrb Ho${eH$mÀ`m q^Vt‘YyZ ........... ZmdmÀ`m à{H«$ òÛmao Xm~VmV.
1) Decussation 2) Dysplasia 3)Deglutition 4) Diapedesis

11) Neutrophils squeeze through the capillary walls in the area of infection through a process called

...........

1) Decussation 2) Dysplasia 3) Deglutition 4) Diapedesis

12) Šbm°qQ>J ’°ŠQ>a, ’°ŠQ>a IX AÝ`Wm ........... åhUyZ AmoiIbm OmVmo.
1) p¼g‘g ’°ŠQ>a 2) hoJo‘Z ’°ŠQ>a 3) b°{~b ’°ŠQ>a 4) ñQw>AQ>© àmoda ’°ŠQ>a

12) The clotting factor, Factor IX is otherwise known as ...........

1) Christmas Factor 2)  Hageman Factor

3) Labile Factor 4) Stuart Prower Factor

13) MoñQ> SóZ KmbUo Am{U ì`dñWm{nV H$aUo `mg§~§YrMo Iao {dYmZ Amho :
1. Ý ẁ‘moWmoa°ŠggmR>r EH$ Zmbr ’w$â’w$gmÀ`m nm`mH$S>o bj Úmdr.
2. Zmë`mbm gŠeZ Z bmdUo qH$dm Šb±n Z H$aUo lò ñH$a Amho.
3. àW‘ ipsilateral Ý ỳ‘moWmoa°Šg ho g{O©H$b hñVjonmgmR>r EH$ g§Ho$V Amho.
4. Zmë`mbm AmXe©nUo gmVdr B§Q>aH$moñQ>b OmJm emoYbr nm{hOo.

13) The TRUE statement regarding insertion and managing a chest drain is:

1. A drain for pneumothorax should aim towards base of the lung.

2. It is preferable not to apply suction to the drain or clamp it.

3. First ipsilateral pneumothorax is an indication for surgical intervention.

4. The drain should ideally find the seventh intercostal space.

14)  dm°Q>a-h°‘a ZmS>r ........ ‘Ü ò {XgV Zmhr.
1) Wm`amoQ>m°pŠgH$mo{gg 2) ‘m¶Q´>b [aJ{O©Q>oeZ 3) ~oar~oar 4) ‘hmY‘Zr arJ{J©Q>oeZ

14) Water-Hammer pulse is not seen in  ........

1) Thyrotoxicosis 2) Mitral regurgitation3) Beriberi 4) Aortic regurgitation

15) Imbrb Am¡fYm§n¡H$s pìhQ>°{‘Z Ho$ {damoYr A±{Q>H$moA°Jwb§Q> åhUOo -
1) EZmoŠgmn[aZ 2) S>mëQ>on[aZ 3) dm°a’o$[aZ 4) hon[aZ

15) One among the following drug is a Vitamin K antagonist anticoagulant.

1) Enoxaparin 2) Dalteparin 3) Warfarin 4) Heparin
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16) 24 Vmgm§À`m AmV Cera Pmbobm aº$òmd, Omo gm‘mÝ`V: nwZéËWmZmZo JwR>ù`m ~mhoa nS>ë`m‘wio hmoVmo, Ë`mbm
_______ åhUVmV.
1) àmW{‘H$ aº$òmd 2) à{V{H«$`mË‘H$ aº$òmd
3) Xwæ`‘ aº$òmd 4) V¥Vr`H$ aº$òmd

16) A delayed Haemorrhage occurring within 24 hours, which is usually due to dislodgement of clot

by resuscitation, is called as ______.

1)  Primary Haemorrhage 2)  Reactionary Haemorrhage

3)  Secondary Haemorrhage 4)  Tertiary Haemorrhage

17) OÝ‘OmV öX`{dH$mamer g§~§{YV {Xboë`m OÝ‘OmV {dH¥$Vr qgS´mo‘‘Yrb MwH$sMr OmoS>r AmoiIm.
1) ‘ma’$mZ qgS´mo‘ - {dñVm[aV Am{U {dÀN>oXZ ‘hmY‘Zr 2) {dë`‘ qgS´mo‘ - gwàdmëì ẁba ‘hmY‘Zr ñQ>oZmo{gg
3) Eñßbo{Z`m qgS´mo‘ - A°{Q´̀ b goßQ>b Xmof   4) ’o$Q>b hm`S|>Q>moBZ qgS´mo‘ - ’°bmoQ>Mo Q>oQ´mbm°Or

17) Identify the incorrect pair among given Congenital Malformation Syndromes Associated with

Congenital Heart Disease.

1)  Marfan syndrome - Dilated and dissecting aorta

2)  William syndrome - Supravalvular aortic stenosis

3)  Asplenia syndrome - Atrial septal defect

4)  Fetal hydantoin syndrome - Tetralogy of Fallot

18) noQ>§Q> S>ŠQ>g AmQ>}[aAmogg ~Ôb Imbrbn¡H$s H$moUVo {dYmZ Iao Amho?
1) ‘moR>çm S>mì`m Vo COì`m e§Q>Mo gyMH$ åhUyZ Aé§X ZmS>rMm Xm~ {XgVmo.
2) ‘moR>çm S>mdrH$Sy>Z COdrH$S>o e§Q>Mo gyMH$ åhUyZ {dñVrU© ZmS>r Xm~ {XgyZ òVmo.
3) ‘moR>çm COdrH$Sy>Z S>mdrH$S>o e§Q>Mo gyMH$ åhUyZ {dñV¥V ZmS>r Xm~ {XgVmo.
4) ‘moR>çm COdrH$Sy>Z S>mdrH$S>o e§Q>Mo gyMH$ åhUyZ Aé§X ZmS>rMm Xm~ {XgVmo.

18) Which of the following statement is true about Patent ductus arteriosus?

1) Narrow pulse pressure as an indicator of large left to right shunt is seen.

2) Wide pulse pressure as an indicator of large left to right shunt is seen.

3) Wide pulse pressure as an indicator of large right to left shunt is seen.

4) Narrow pulse pressure as an indicator of large right to left shunt is seen.

19) W«moå~moBå~mo{bP‘À`m CnMmam§~m~V H$m` Iao Amho?
1) dm°a’o$[aZ Woanr à^mdr hmoB©n ª̀V hon[aZ AmoVUo {Xbo nm{hOo
2) 24% Am°pŠgOZ WoanrZo hm`nmoŠgo{‘`m XwéñV Ho$bm nm{hOo
3) dm°a’o$[aZ Woanr 4 AmR>dS>o Mmby R>odmdr
4) ñQóßQ>mo{H$ZoO Woanr Ëd[aV Úmdr

19) What is true regarding treatment of thromboembolism?

1) Heparin infusion should be given until warfarin therapy has become effective

2) 24% oxygen therapy should correct hypoxaemia

3) Warfarin therapy should be continued for 4 weeks

4) Streptokinase therapy should be given immediately
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20) Oa é½Umbm Imbrbn¡H$s EH$ Q´m`S> Agob Va ’$mQ>boë`m AmoQ>rnmoQ>mV ‘hmY‘Zr Y‘Zr{dñ’$m[aV hmoÊ`mMr e§H$m Amho:
1) qgH$mon, hm`nmoQ>oÝeZ, nëgoQ>mBb AmoQ>rnmoQ>mV dñVw‘mZ
2) Vrd« AmoQ>rnmoQ>mV / nmR>XwIr, hm`nmoQ>oÝeZ, qgH$mon
3) Vrd« AmoQ>rnmoQ>mV / nmR>XwIr, hm`nmoQ>oÝeZ, AmoQ>rnmoQ>mMm ’w$JdQ>m
4) W«oS> ZmS>r, AmoQ>rnmoQ>mV doXZm, qgH$mon

20) Ruptured abdominal aortic aneurysm is suspected if the patient has triad of one of the following:

1)  Syncope, hypotension, pulsatile abdominal mass

2)  Severe abdominal/ back pain, hypotension, syncope

3)  Severe abdominal/ back pain, hypotension, pulsatile abdominal mass

4)  Thready pulse, Pain abdomen, Syncope

21) Imbrbn¡H$s S>rn doZ W«moå~mo{gg (DVT) À`m Cƒ OmoI‘rer g§~§{YV eó{H«$`m à{H«$`m _______ Amho.
1) ‘°pŠgbmo’o${e`b eó{H«$`m 2) H$m{S>©Amo Wmoa°{gH$ eó{H«$`m
3) EHy$U {hn ~XbUo 4) óramoJ eó{H«$`m

21) The surgical procedure that is associated with HIGH risk of Deep Vein Thrombosis (DVT) among

the following is ______.

1)  Maxillofacial surgery 2)  Cardio thoracic surgery

3)  Total hip replacement 4)  Gynecological surgery

22) aº$ g§H«$‘Umnydu ‘w»` H«$m°g‘°qMJ ghgm _______ {‘giyZ Ho$bo OmVo.
1) XmË`mÀ`m noer Am{U àmáH$Ë`m©À`m noer 2) XmË`mMo {ga‘ Am{U àmáH$Ë`m©Mo {ga‘
3) XmË`mÀ`m noer Am{U àmáH$Ë`m©Mo {ga‘ 4) XmË`mMo {ga‘ Am{U àmáH$Ë`m©Mo noer

22) Major crossmatching prior to blood transfusion is usually done by mixing ______.

1)  Donor’s cells and Recipient’s cells 2)  Donor’s serum and Recipient’s serum

3)  Donor’s cells and Recipient’s serum 4)  Donor’s serum and Recipient’s cells

23) Imbrb gd© ì`{V[aº$ {H$‘mZ àdoe eó{H«$ òMo ’$m`Xo AmhoV :
1) OI‘oÀ`m AmH$mamV KQ> 2) OI‘oÀ`m g§gJm©‘Ü ò KQ>
3) Y‘Zr aº$òmdmZ§Va ho‘moñQ>°{gg ghO gmÜ` hmoVo 4) gwYm[aV J{VerbVm

23) ALL of the following are advantages of minimal access surgery EXCEPT :

1)  Decrease in wound size

2)  Reduction in wound infection

3)  Haemostasis achieved easily after arterial bleeding

4)  Improved mobility

24) EŠñQ°́S>çyab aº$òmdm‘wio ‘¥Ë ỳ H$moUË`m gm‘mÝ` H$maUmZo hmoVmo?
1) Ý ỳamoOo{ZH$ em°H$ 2) öX` An`e 3) ídgZ{H«$`m ~§X hmoUo 4) ho‘moao{OH$ em°H$

24) Extradural hemorrhage results in death with which of the commonest cause?

1)  Neurogenic shock 2)  Cardiac failure 3)  Respiratory failure 4)  Hemorrhagic shock

25) ~hþVoH$ AmnËH$mbrZ n[apñWVrV, dm ẁ‘mJ© gwa{jV H$aÊ`mMr gdm©V WoQ> Am{U g‘mYmZH$maH$ nÕV ______ Amho.
1)  na³¶wQ>o{Z`g Q´>°{H$AmoñQ>mo‘r 2) E§S>mo ídmgZ{bH$m B§Q>çy~oeZ
3)  {H«$H$moWm`am°BS>moQ>m°‘r 4) Q´mÝg ídmgZ{bH$m dm ẁdrOZ
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25) In most emergency situations, the most direct and satisfactory method of securing the

airway______.

1)  Percutaneous tracheostomy 2)  Endo tracheal intubation

3)  Cricothyroidotomy 4)  Trans tracheal ventilation

26) Vrd« në‘moZar B{S>‘mer g§~§{YV öX` An`emÀ`m ~m~VrV, {Xboë`m CnMmam~Ôb H$m` Iao Amho?
1) {gñQ>m°{cH$ aº$Xm~ < 140 {‘‘r EMOrnojm H$‘r Agë`mg Zm`QóQ²g Q>mimdo
2) â ẁamogo‘mBS> Woanr {àcmoS> Am{U AmâQ>abmoS> H$‘r H$aVo
3) Yy‘«nmZmMr gd` Agboë`m é½Um§‘Ü ò {Z §̀{ÌV Am°pŠgOZ Woanr 28% Am°pŠgOZn ª̀V ‘`m©{XV Agmdr.
4) ACE BZ{h{~Q>a AmâQ>abmoS> H$‘r H$aVmV na§Vw {àcmoS> dmT>dVmV

26) In case of cardiac failure associated with acute pulmonary edema, what is true about the treatment

given?

1)  Nitrates should be avoided if the systolic blood pressure < 140 mm Hg

2)  Furosemide therapy given IV reduces preload and afterload

3)  Controlled oxygen therapy should be restricted to 28% oxygen in patients who has a habit of

smoking

4)  ACE inhibitors decreases the afterload but increases the preload

27) Imbrbn¡H$s H$moUVo Am¡fY ídgZ{H«$¶oMm doJ ‘§XmdÊ¶mg H$maUr ŷV Amho ?
1) ’o$Zmo{W`m{PZ 2) boìhmoS>monm 3) ñQ´m`ŠZmB©Z 3) Šbmo{ZS>mBZ

27) Which drug among the following is known to cause respiratory depression ?

1)  Phenothiazine 2) Levodopa 3) Strychnine 3) Clonidine

28) ~«mopÝH$`b AñW‘mgmR>r H§$Q´moba Woanr åhUyZ Imbrb nÕVr dmnaë`m OmVmV
1) ~rQ>m 2 A°SóZ{O©H$ A°Jmo{ZñQ> 2) A±Q>rH$mo{bZ{O©H$
3) BZhoëS> H$m°{Q©>H$mopñQ>am°B©S²g 4) ’$m°ñ’$moS>rñQ>oaog BZ{h{~Q>a

28) Following is used as controller therapy for bronchial asthma

1) Beta 2 adrenergic agonists 2) Anticholinergics

3) Inhaled corticosteroids 4) Phosphodiesterase inhibitor

3)nMZg§ñWm
1) ............ hm J°boŠQ>moO ‘oQ>m~m°{bP‘Mm AZwdm§{eH$ {dH$ma Amho.

1) A°{Z{‘`m 2) J°boŠQ>mogo{‘`m 3) W°bogo{‘`m 4) {gH$b gob A°{Z{‘`m
1) ............ is an inherited disorder of galactose metabolism.

1) Anemia 2) Galactosaemia 3) Thalassemia 4) Sickle cell anemia

2) NADPH Mr {Z{‘©Vr n|Q>moO-’$m°ñ’o$Q> ‘mJm©‘Ü ò hmoVo.........
1) ß ẁ[aZ g§ícofU 2) S>rEZE g§ícofU 3) AmaEZE g§ícofU 4) ’°Q>r E°{gS> g§ícofU

2) NADPH is produced in pentose-phosphate pathway is used in ..........

1) Purine synthesis 2) DNA synthesis 3) RNA synthesis         4) Fatty acid synthesis
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3) Imbrbn¡H$s H$moUVm EH$$‘mJ© hm nMZg§ñWoÛmao Am¡fY XoÊ¶mMm ‘mJ© Xe©dVmo ?
1) B§Q´m{WH$b 2) ~¸$b 3) Q´mÝgS>‘©b 4) BZhoboeZ

3) The enteral route of administration depicts one among the following route.

1) Intrathecal 2) Buccal 3) Transdermal 4) Inhalation

4) Imbrbn¡H$s H$moUVo A§JH$ ‘mZdr noet‘Ü¶o ZgVo?
1) V§VwH${UH$m 2) h[aVbdH$ 3) A§VÐ©ì¶r Om{bH$m 4) b¶H$m[aH$m

4) Which of the following organelles is NOT present in human cells?

1) Mitochondria 2) Chloroplast

3) Endoplasmic reticulum 4) Lysosomes

5) 2 dfm©À`m ‘wbm‘Ü ò {nÎm{df`H$ CbQ>çm, nmoQ>eyi XwIUo Am{U aº$ ‘b ho ‘w»`V… _______ Mo gyMH$ AgVo.
1) J°ñQ´mo Egmo’o$Ob [aâboŠg 2) A§VJ«©hU
3) A ©̂H$ hm`naQ´m°{’$H$ nm`bmo[aH$ ñQ>oZmo{gg 4) Vrd« AmÝÌnwÀN>mMm amoJ

5) Bilious vomiting, colicky pain and blood stools in a 2-year-old child is mostly suggestive of

______.

1) Gastro oesophageal Reflex 2) Intussusception

3) Infantile hypertrophic pyloric stenosis 4) Acute appendicitis

6) Vrd« J°ñQ´mo-S>çwAmoS>oZb aº$òmdmMm g§e` Agë`mg :
1) Q>°{H$H$m{S>©̀ m{edm` hm`nmoQ>oÝeZ d¡H$pënH$ {ZXmZ gwMdVo
2) Aeº$nUm ZgUo ho gy{MV H$aVo H$s aº$mMo à‘mU ‘m’$H$ Amho
3) ZmgmoJ°pñQ´H$ AmH$m§jm aº$ H$‘r hmoÊ`mMm AMyH$ A§XmO àXmZ H$aVo
4) EÝS>moñH$monr hr gdm}Îm‘ àb§{~V aº$mMr ‘mÌm ~XbUo bm§~Urda Q>mH$Vo

6) In case of suspicion of acute gastro-duodenal hemorrhage :

1) Hypotension without a tachycardia suggests an alternative diagnosis

2) Absence of anemia suggests volume of blood is modest

3) Nasogastric aspiration provides an accurate estimate of blood loss

4) Endoscopy is best deferred pending blood volume replacement

7) {Xboë`m {dYmZm§n¡H$s H$moUVo {dYmZ {nÎm{df`H$ ‘mJm©~Ôb ~amo~a Amho?
1) {nÎm Am{U ñdmXwqnS> Z{bH$m ghgm n¹$me`mV ñdV§ÌnUo gm‘rb hmoVmV
2) COì`m Am{U S>mì`m `H¥$VmÀ`m Z{bH$m EH$Ì hmoD$Z gm‘mÝ` {nÎm Z{bH$m V`ma hmoVo
3) XaamoO 1-2 brQ>a {nÎm òmd hmoVmo Am{U {nÎm ‘yÌme`mV 10 nQ> H|${ÐV hmoVmo
4) {nÎmme`m‘Ü ò àm‘w»`mZo ghmZŵ yVr Zgboë`m ‘‚mmV§Vy§Mm {dH$mg hmoVmo

7) Which of the given statement stands correct about the biliary tract?

1)  Bile and pancreatic ducts usually join duodenum separately

2)  Right and left hepatic ducts join to form the common bile duct

3)  1-2 liters of bile are secreted daily and concentrated 10 fold in the gall bladder

4)  Gallbladder is chiefly innervated by sympathetic nerves
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8) nmoQ>mV AmnËH$mbrZ pñWVrV J«o Q>Z©a Am{U Hw$boZMo {MÝh ~hþVoH$ ______ Mo gyMH$ AgVo.
1) Vrd« ñdmXwqnS>mMm Xmh 2) ßbrhm XwImnV
3) Vrd« AmÝÌnwÀN>mMm amoJ 4) {nÎmme`mMm Xmh

8) In an abdominal emergency presence of Grey turner and Cullen’s sign is mostly suggestive

of______.

1)  Acute pancreatitis 2)  Splenic injury

3)  Acute appendicitis 4)  Cholelithiasis

9) g~’«o${ZH$ JiyMr gdm©V Imob Am{U gm‘mÝ` OmJm ______ òWo AgVo.
1) S>mdr g~’«o${ZH$ OmJm 2) S>mì`m g~hon°{Q>H$ OmJm
3) COdr g~’«o${ZH$ OmJm 4) COdr g~hon°{Q>H$ OmJm

9) The deepest and most common site of a subphrenic abscess is located at ______.

1)  Left subphrenic space 2)  Left subhepatic space

3)  Right subphrenic space 4)  Right subhepatic space

10) ‘°bar - doBg qgS´mo‘ g§~§Yr gË` {dYmZ Amho :
1. ho emór` nÕVrZo KS>Vo Ooìhm EImÚm ì`º$sbm ~§X ½bmoQ>rg {déÕ CbQ>çm hmoVmV.
2. AÞZ{bHo$À`m ImbÀ`m {Vgè`m ^mJmV XwImnV hmoVo.
3. O~aXñV CbQ>çm nmoQ>mÀ`m öX`mÀ`m Q>moH$mbm íboî‘b PrO {Z‘m©U H$aVmV.
4. ho BñQ®>‘|Q>oeZ Woa°{n{Q>H$ E§S>moñH$monr Xaå`mZ CX²̂ dVo.

10) The TRUE statement regarding Mallory - Weiss syndrome is :

1. This occurs classically when person vomits against a closed glottis.

2. Injury occurs at lowered third of oesophagus.

3. Forceful vomiting produces a mucosal tear at the cardiac end of stomach.

4. It occurs during instrumentation therapeutic endoscopy.

11) Imbrbn¡H$s S>m`Z°{‘H$ àH$maÀ`m AmVS>çm§g§~§Yr AS>Wù`mMo CXmhaU Amho :
1) AYmªJdm ỳ B{b`g 2) A§VJ«©hU 3) ìhm°ëdwbg 4) ~±S>/Amg§OZ

11) Example for adynamic type of intestinal obstruction among the following is :

1) Paralytic ileus 2) Intussusception 3) Volvulus 4) Bands/ adhesions

4) CËgO©Zg§ñWm
1) .......... dJiVm gd© Zo’«$mo{Q>H$ qgS´mo‘Mr d¡{eï²> ò AmhoV.

1) àmoQ>rÝ ẁ[a`m 2) gyO
3) hm`naH$moboñQ>oamobo{‘`m 4) hm`nmoQ>oÝeZ

1) All are features of nephrotic syndrome except.

1) Proteinuria 2) Oedema

3) Hypercholesterolaemia 4) Hypotension

2) ............. dJiVm gd© H«$m°{ZH$ aoZb ’o$ë ẁAaMr d¡{eï²> ò AmhoV
1) Aeº$nUm 2) Cƒ aº$Xm~ 3) bhmZ AmH$mamMo ‘yÌqnS> 4) nm°br ẁ[a`m



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ  / 66

2) All are features of chronic renal failure except

1) Anaemia 2) Hypertension 3) Small size kidneys 4) Polyuria

3) Vrd« nmÊ`mÀ`m Zem~m~V H$m` Iao Amho?
1) ‘yÌme` 290/kg

2) ~mø noer ÐdnXmWm©À`m dmT>rd à‘mUmMm pŠb{ZH$b nwamdm
3) {ga‘ gmo{S>`‘ EH$mJ«Vm <130 mmol/L

4) gm‘mÝ` gmo{S>`‘ ŠcmoamBS>À`m 1 {bQ>abm Ëd[aV à{VgmX
3) What is true regarding acute water intoxication?

1)  Urinary osmolality 290/kg

2)  Clinical evidence of increased extracellular fluid volume

3)  Serum sodium concentration <130 mmol/L

4)  Prompt response to 1 L of normal sodium chloride

5) ñZm¶y d ApñW g§ñWm
1) ______bm EH$ {deof a’$ëS> Aåbr` gr‘m AgVo Or hmS>m§À`m AdemofUmgmR>r A{V[aº$ n¥ð>^mJ àXmZ H$aVo.

1) Am°pñQ>`mogmBQ²g 2) Am°pñQ>`moŠbmñQ> 3) Am°pñQ>`moãbmñQ> 4) AmoS>moÝQ>moãbmñQ>
1) ______ have a specialised ruffled acidic border that provides additional surface area for bone

resorption.

1)  Osteocytes 2)  Osteoclasts 3)  Osteoblasts 4)  Odontoblasts

2) ______gm§Yo ‘moR>çm à‘mUmV hmbMmb H$aÊ`mg nadmZJr XoVmV.
1. V§Vw‘` 2. H$m{Q©>bm{JZg 3. gm`Zmopìh`b 4. qgH$moÝS´mo{gg

2) ______ joints permit a great deal of movement.

1)  Fibrous 2)  Cartilaginous 3)  Synovial 4)  Synchondrosis

3) Imbrbn¡H$s H$moUVo H«°${Z`b {gdZr Zmhr?
1)  ~mUy 2)  H$moamoZb 3)  {gpå’${gg 4) ñ¹°$‘mogb

3) Which of the following is NOT a cranial suture?

1)  Sagittal 2)  Coronal 3)  Symphysis 4) Squamosal

4) {P’$mB©S> à{H«$`m______ Mm EH$ ^mJ Amho.
1) hm`m°BS> 2) ñQ>Z©‘ 3) [aãg 4) lmo{U

4) The xiphoid process is a part of the ______.

1)  hyoid 2) sternum 3)  ribs 4) pelvis

5)  ______ho b¢{JH$ {Ûê$nVogmR>r ng§VrMo H§$H$mb KQ>H$ Amho.
1) lmo{U 2) ~aJS>çm 3) øw‘ag 4) ñH°$nwbm

5) ______ is the preferred skeletal element for sexual dimorphism.

1)  Pelvis 2)  Ribs 3)  Humerus 4)  Scapula
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6) àmW{‘H$ ñOmoJ«oÝg qgS´mo‘À`m AmoiIë`m OmUmè`m d¡{eï²>`m§~Ôb Imbrbn¡H$s H$moUVo gË` Zmhr?
1) {bå’$mo‘mMr dmT>bobr KQ>Zm 2) {ó`m§nojm A{YH$ nwéf à^m{dV
3) b°{H«$‘b òmd Xa H$‘r 4) S>moio, Vm|S> Am{U `moZr H$moaS>o hmoUo

6) Which among the following is NOT true about recognized features of primary Sjögren's syndrome?

1)  An increased incidence of lymphoma 2)  More males affected than females

3)  Reduced lacrimal secretion rate 4)  Dryness of eyes, mouth and vagina

7) hm`naEŠgQ>oÝeZ - hm`naâboŠeZ BOm Amho:
1) Oo’$agZMo ’«°$ŠMa 2) h±J‘°ZMo ’«°$ŠMa 3) ~{Hª$J 4) pìhnc°e

7) Hyperextension - hyperflexion injury is:

1)  Jefferson’s fracture 2)  Hangman’s fracture 3)  Burking 4)  Whiplash

8) EH$ ‘°{ZQ>m°b AëH$cmB©Z {S´n _______ À`m ì`dñWmnZmgmR>r Iyn Cn ẁº$ Amho.
1) H«$e BOm 2) GAS J±JarZ
3) H§$nmQ>©‘|Q> qgS´mo‘ 4) ZoH«$moQ>mBqPJ ’°{gQ>m`{Q>g

8) A mannitol alkaline drip is very useful in management of ______.

1) CRUSH injury 2) GAS Gangrene

3) Compartment syndrome 4) Necrotizing fasciitis

9) Imbrb gd© H$maUo dJiVm {dVaUmË‘H$ Y³³`mMr H$maUo AmhoV :
1) gopßQ>H$ em°H$ 2) A°Zm{’$bopŠgg
3) nmR>rÀ`m H$Ê`mbm XwImnV 4) Vrd« aº$òmd

9) ALL of the following are causes for Distributive shock EXCEPT :

1) Septic shock 2) Anaphylaxis

3) Spinal cord injury 4) Acute Haemorrhage

10) ______ À`m ~m~VrV {J«qgOa {MÝh gH$mamË‘H$ Amho.
1)  ~mø Jiy 2)  noQ´mo{g{g{Q>g
3)  nmíd© gm`Zg W«moå~mo{gg 4)  g~S>çyab Jiy

10) Griesinger sign is positive in a case of ______.

1) Extradural abscess 2) Petrositis

3) Lateral sinus Thrombosis 4) Subdural abscess

11) E{nñQ>°pŠggMr Y‘Zr ______ Amho.
1) J«oQ>a n°bm{Q>Z Y‘Zr 2) Mohè`mdarc Y‘ZrMr gw{n[a`a bo{~`b emIm
3) nyd©dVu ethmoidal Y‘Zr 4) ñ’o$Zmon°bm{Q>Z Y‘Zr

11) The artery of Epistaxis is ______.

1) Greater palatine artery 2) Superior labial branch of facial artery

3) Anterior ethmoidal artery 4) Sphenopalatine artery

12) Imbrb gd© ~m~r dJiVm ~Z© é½UmÀ`m n[aUm‘mMo à‘wI {ZYm©aH$ AmhoV :
1)  Q> o̧$dmar n¥ð>^mJ Jw§Vbobo AmhoV 2)  ~Ýg©Mr Imobr
3)  BZhocoeZ XwImnVrMr CnpñWVr 4)  ~Ýg© gmBQ> nmgyZ g§gJ©
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12) ALL of the following are the major determinants of the outcome of BURN’S patient EXCEPT :

1)  Percentage surface are involved 2)  Depth of Burns

3)  Presence of an inhalational injury 4)  Infection from the burns site

13) Oiboë`m é½UmÀ`m nwZéËWmZmgmR>r gm‘mÝ`V… dmnabo OmUmao H$mocmB©S> Ðd ______ Amho.
1) [a¨Ja b°ŠQ>oQ> 2) S>oŠñQ´moO gbmB©Z
3) ‘mZdr Aëã ẁ{‘Z gmoë ỳeZ (HAS) 4) gm‘mÝ` gbmB©Z

13) The commonly used colloid fluid for resuscitation in a burns patient is ______.

1)  Ringer’s lactate 2)  Dextrose saline

3)  Human Albumin Solution (HAS) 4)  Normal saline

14) AmonZ ’«°$ŠMagmR>r Tscherne dJuH$aUmZwgma, ^mar Xy{fVVogh ’«°$ŠMa, ‘‚mmV§VyÀ`m XwImnVter g§~§{YV AË¶m{YH$
‘D$ D$VtMo ZwH$gmZ ______ A§VJ©V òVo.
1) J«oS> I 2) J«oS> II 3) J«oS> III 4) J«oS> IV

14) As per Tscherne classification for open fractures, A fracture with heavy contamination, Excessive

soft tissue damage associated with neural injuries comes under ______.

1)  Grade I 2)  Grade II 3)  Grade III 4)  Grade IV

15) ~aJS>çm H$mnÊ`mgmR>r Am{U djñWimMr nmoH$ir CKS>Ê`mgmR>r Imbrbn¡H$s H$moUVm dmna Ho$bm OmVmo?
1) H$m°ñQ>moQ>mo‘ 2) EÝQ>amoQ>mo‘
3) Metzenbaum H$mÌr 4) H°$pëQ>Z MmHy$

15) Which of the following is used to for cutting the ribs and opening the thoracic cavity?

1)  Costotome 2) Enterotome

3) Metzenbaum scissors 4) Caltin knife

16) Vrd« àmW{‘H$ H$moZ ~§X H$mMq~XyMo gm‘mÝ` bjU ______ Amho.
1) bmb S>moù`mer g§~§{YV Vrd« ZoÌXwIr 2) Ñï>r‘Ü ò Vrd« KQ>
3) a§JrV haloes Zm|Xdbo OmD$ eH$VmV 4) Vrd« S>moHo$XwIr, ‘i‘i Am{U CbQ>çm

16) The common symptom of acute primary angle closure glaucoma is ______.

1) Severe ocular pain associated with red eye    2) Profound decrease in vision

3) Coloured haloes may be reported 4) Severe headache, nausea and vomiting

17) Imbrbn¡H$s gd© J«oS>o{ZJmo qgS´mo‘Mr d¡{eï²> ò AmhoV.
1) H$m°ÝQ´mboQ>ab ’o$g (VII N) À`m gh^mJmMm njmKmV
2) AmoQ>mo[a`m
3) aoQ´mo Am°{~©Q>b doXZm (V N) gh^mJ
4) b°Q>ab aoŠQ>g nmëgr (VI N) gh^mJ

17) ALL of the following are characteristics of GRADENIGO’S SYNDROME EXCEPT :

1) Paralysis of contralateral face (VII N) involvement

2) Otorrhea

3) Retro orbital pain (V N) involvement

4) Lateral rectus palsy (VI N) involvement
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18) ¹$m{S´goßg ’o$‘mo[ag ñZm ỳ AmoT>ë`m‘wio n°Q>obmÀ`m daÀ`m Y«wdmMo ’«°$ŠMa ho ______ Mo CXmhaU Amho.
1) à^m{dV ’«°$ŠMa 2) VmU ’«°$ŠMa
3) H$m°åàoeZ ’«°$ŠMa 4) Avulsion ’«°$ŠMa

18) Fracture of upper pole of patella due to pull of quadriceps femoris muscle is an example

for______.

1)  Impacted fracture 2)  Stress fracture

3)  Compression fracture 4)  Avulsion fracture

19) Imbrb gd© A°Q´mo{’$H$ àH$maÀ`m Zm°Z- ẁ{Z`Z dJiVm d¡{eï²> ò AmhoV :
1)  VwH$S>o OS> Am{U g§dhZr AgVmV
2) ’«°$ŠMa n¥ð>^mJm§Mm ñŠboamo{gg Amho Am{U ao{S>Amobm°{OH$b arVrZo ‘oS>çwbar H°$Zm°b ~§X Amho
3) Q>moHo$ {Z‘wiVo, Am°pñQ>`monmoamo{Q>H$ Am{U Iyn ‘mo~mBb AmhoV
4) AJXr gm`Zmopìh`b AñVam§gh ~ZmdQ> gm§Yo V`ma hmoD$ eH$VmV

19) ALL of the following are characteristics of Atrophic type of NON-UNION EXCEPT :

1)  The fragments are inert and avascular

2)  There is a sclerosis of fracture surfaces and closure of medullary canal radiologically

3)  The ends are tapering, osteoporotic and very mobile

4)  There may be formation of a fake joint with even a synovial lining

20) gwàmH$m°ÝS>m`ba ’«°$ŠMaMr Jw§VmJw§V åhUyZ gdm©V gm‘mÝ`nUo Jw§Vbobr ‘‚mmV§Vy ______ Amho.
1)  ‘Ü`dVu ‘‚mmV§Vy 2)  nyd©dVu B§Q>amo{g`g ‘‚mmV§Vy
3)  ao{S>`b ‘‚mmV§Vy 4)  CëZma ‘‚mmV§Vy

20) The most commonly involved nerve as a complication of supracondylar fractures is ______.

1) Median nerve 2) Anterior interosseous nerve

3) Radial nerve 4) Ulnar nerve

21) J°boPr ’«°$ŠMa {S>ñbmoHo$eZ ______ Amho.
1)  CbZmÀ`m {dñWmnZmer g§~§{YV {ÌÁ`mÀ`m XyaÀ`m emâQ>Mo ’«°$ŠMa
2)  {ÌÁ òÀ`m S>moŠ`mÀ`m {dñWmnZmgh CbZmÀ`m àm°pŠg‘b WS>©Mo ’«°$ŠMa
3)  {dñWmnZ Z H$aVm CbZmÀ`m ImbÀ`m {Vgè`m ^mJmMo ’«°$ŠMa
4)  bmoAa ao{S>`b E{n’o${ggMo ’«°$ŠMa n¥W¸$aU

21) The Galeazzi fracture dislocation is ______.

1) Fracture of distal shaft of radius associated with dislocation of ulna

2) Fracture of proximal third of ulna with dislocation of the head of radius

3) Fracture of lower third of ulna without displacement

4) Fracture separation of lower radial epiphysis

22) ’°$‘aÀ`m ‘mZoÀ`m ’«°$ŠMagmR>r JmS>©Z dJuH$aU ______ da AmYm[aV Amho.
1)  earaemór` gmBQ> 2)  ’«°$ŠMa H$moZ
3)  ’o$‘moab S>moHo$Mo {dñWmnZ 4)  H$å ẁÝ ẁeZMr ì`már

22) Garden classification for fracture neck of femur is based on ______.

1) Anatomic site 2) Fracture angle

3) Displacement of femoral head 4) Extent of comminution
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23) AëJmoa ‘m°{Q©>g hr nmoñQ>‘m°Q>©‘ KQ>Zm H$moUmÀ`m VÎdm§da AmYm[aV Amho?
1) dm°ëWa ZoÝñQ>© 2) S>m°. Ho$. Eg. Zmam`U aoÈ>r
3) éS>m°ë’$ Šbm°{e`g 4) ga Am`P°H$ Ý ỳQ>Z

23) Algor Mortis, a post-mortem phenomena is based on the principles laid down by whom?

1)  Walther Nernst 2)  Dr. K. S. Narayan Reddy

3)  Rudolf Clausius 4)  Sir Isaac Newton

24) [aJa ‘m°{Q©>gÀ`m nmoñQ>-‘m°Q>©‘ KQ>ZoÀ`m {d ôXH$ {ZXmZmVyZ Imbrbn¡H$s H$moUVo doJio Amho?
1) H°$S>oìh[aH$ C~i 2) CîUVm H$S>H$ hmoUo
3) W§S> H$S>H$ hmoUo 4) C~Xma H$S>H$ hmoUo

24) Which of the following stands out of the differential diagnosis to the post-mortem phenomena of

Rigor Mortis?

1)  Cadaveric spasm 2)  Heat stiffening

3)  Cold stiffening 4)  Warm stiffening

6) J«§Wr
1) ......... ho ‘mZdr earamVrb ‘w»` {‘ZabH$m°{Q©>H$m°BS> Amho.

1) goamoQ>mo{ZZ 2) A°ëS>moñQ>oam°Z 3) H$mo{Q©>gmob 4) A°§S´moOZ
1) ......... is the main mineralocorticoid in humans.

1) Serotonin 2) Aldosterone 3) Cortisol 4) Androgen

2) Wm`am°BS>oŠQ>m°‘rMr gdm©V dma§dma OrdKoUr Jw§VmJw§V ______ Amho.
1) aº$òmd 2) dma§dma ñda §̀ÌmMm ‘‚mmV§Vy njmKmV
3) OI‘oÀ`m g§gJ© 4) Wm`amoQ>m°pŠgH$ g§H$Q>

2) The most frequent life-threatening complication of thyroidectomy is ______.

1)  Haemorrhage 2)  Recurrent laryngeal Nerve paralysis

3)  Wound infection 4)  Thyrotoxic crisis

7) AZwdm§{eH$Vm, amoJà{VH$maH$Vm
1) nëg nmo{bAmo bgrH$aU H$m ©̀H«$‘mMr bú` bmoH$g§»`m _______ Amho.

1. ‘wbo < 5 df} d` 2. ‘wbo > 5 df}
3. < 1 dfm©nojm H$‘r d`mMr ‘wbo 4. emioV OmUmar ‘wbo

1) The target population of pulse polio immunization programme is ______.

1. Children < 5 years of age 2. Children > 5 years of age

3. Children < 1 year of age 4. School going children

2) Or bg ’$º$ 1 dfm©n ª̀V {Xbr OmVo Vr _______ Amho.
1. TT vaccine 2. OPV 3. BCG 4. DPT

2) The vaccine that is given only up to 1 year of age is ______.

1. TT vaccine 2. OPV 3. BCG 4. DPT



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ  / 71

3) ______`m§Zm EH${ÌVnUo O¡{dH$ àmo’$mBb åhUyZ g§~moYbo OmVo.
1. d`, qbJ, d§e Am{U C§Mr 2. d`, qbJ, Y‘© Am{U ì`dgm`
3. qbJ, d§e, Y‘© Am{U C§Mr 4. d`, d§e, ì`dgm` Am{U C§Mr

3) ______ are collectively referred to as the biological profile.

1. Age, sex, ancestry and stature 2. Age, sex, religion and occupation

3. Sex, ancestry, religion and stature 4. Age, ancestry, occupation and stature

4) hS>© Bå ẁ{ZQ>r ‘Ü ò {XgV Zmhr
1) {S>ßWr[a`m 2) YZwdm©V 3) Jmoda 4) nmo{bAmo

4) Herd immunity is not seen in

1) Diphtheria 2) Tetanus 3) Measles 4) Polio

5) ES²g hm .......... Bå ẁZmoS>o{’${eAÝgr AmOma Amho.
1) ‘mÜ`{‘H$ 2) àmW{‘H$ 3) àmXo{eH$ 4) MVŵ w©O

5) AIDS is a .......... immunodeficiency disease.

1) Secondary 2) Primary 3) Tertiary 4) Quatenary

6) ao~rO Bå ẁZmo½bmo~w{bZ g§~§Yr Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV/AmhoV?
a) nmoñQ> EŠgnmoOa àmo{’$b°pŠgg gwê$ Ho$ë`mZ§Va eŠ` {VVŠ`m bdH$a EH$XmM àem{gV Ho$bo nm{hOo.
b) ho gd© OI‘oÀ`m {R>H$mUr qH$dm Amgnmg àem{gV Ho$bo nm{hOo.
c) Amdí`H$ Bå ẁZmo½bmoã ẁ{bZ àem{gV H$aÊ`mnydu ËdMm MmMUr H$aÊ`mgmR>r H$moUVohr d¡km{ZH$ H$maU Zmhr.
d) A±Q>r ao~rO bgrMm n{hbm S>mog {Xë`mZ§Va 15 {Xdgm§Zr ho {’$b àem{gV Ho$bo OmD$ eH$Vo.
n¶m©¶r CÎmao …
1) ’$º$ a 2) a  Am{U b ’$º$ 3) a, b Am{U d ’$º$ 4) a, b Am{U c ’$º$

6) Which of the following statements regarding rabies immunoglobulin is/are true ?

a) If should be administered only once as soon as possible after initiation of post exposure

prophylaxis.

b) It should be administered all into or around the wound sites.

c) There is no scientific ground for performing a skin test prior to administering required

immunoglobulin.

d) It can be administered fill 15 days after the first dose of anti rabies vaccine.

Answer Options :

1) a only 2) a and b only 3) a, b and d only 4) a, b and c only

7) n±Q>mìh°b|Q> bg Imbrbn¡H$s H$moUË`m amoJmnmgyZ g§ajU XoVo?
1) {S>ßWr[a`m, noQ>çw©{gg, j`amoJ, Jmoda Am{U {hn°Q>m`Q>rg ~r
2) {S>ßWr[a`m, noQ>çw©{gg, {Q>Q>°Zg, {hn°Q>m`Q>rg ~r Am{U EMAm`~r
3) {S>ßWr[a`m, noQw>©{gg, Jmoda, {hn°Q>m`Q>rg ~r Am{U é~obm
4) {S>ßWr[a`m, noQ>çw©{gg, Jmoda, {hn°Q>m`Q>rg ~r Am{U EMAm`~r.
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7) Pantavalent vaccine provides protection against which of the following disease ?

1) Diphtheria, Pertussis, Tuberculosis, Measles and Hepatitis B

2) Diphtheria, Pertussis, Tetanus, Hepatitis B and Hib

3) Diphtheria, Pertussis, Measles, Hepatitis B and Rubella

4) Diphtheria, Pertussis, Measles, Hepatitis B and Hib.

8) AmonZ pìh`b nm°{bgr Imbrbn¡H$s H$moUË`m bgtZm bmJy hmoVo?
a) ~rgrOr b) {hn°Q>m`Q>rg B c) S>rnrQ>r d) Jmoda/MR

n¶m©¶r CÎmao …
1) a ’$º$ 2) b Am{U c ’$º$ 3) a Am{U d ’$º$ 4) c ’$º$

8) Open vial policy applies to which of the following vaccines ?

a) BCG b) Hepatitis B c) DPT d) Measles/MR

Answer Options :

1) a only 2)  b and c only 3) a and d only 4) c only

9) Ý ỳ‘moH$moH$b Ý ỳ‘mo{Z`m bg (PPV 23) Imbrbn¡H$s H$moUË`m JQ>mgmR>r {e’$mag Ho$br OmVo?
a) 2 dfm©Imbrb ‘wbo b) Á`m§Zm {gH$bgob AmOma Amho
c) Á`m§Zr ñßboZoŠQ>mo‘r Ho$br Amho d) Bå ẁZmo VS>OmoS> Ho$boë`m ì`º$s
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3)  b Am{U c  ’$º$ 4)  b, c Am{U d ’$º$

9) Pneumococcal Pneumonia Vaccine (PPV 23) is recommended for which of the following groups?

a) Children under 2 years of ages b) Those who have sickle cell disease

c) Those who have undergone splenectomy d) Immuno compromised individuals

Answer Options :

1) a only 2) a and b only 3) b and c only 4) b, c and d only

10) Imbrbn¡H$s H$moUVo gmoam`{gg ~Ôb VÏ` Xe©dV Zmhr?
1. Oa nmbH$m§n¡H$s EH$mbm ~m{YV Pmbo Agob Va ‘wbmbm hm AmOma hmoÊ`mMr 50% eŠ`Vm AgVo
2. goë ẁba KwgImoar gm‘mÝ`V: {bå’$mogmB{Q>H$ AgVo
3. Zob {nqQ>J {S>ñQ>b B§Q>a’o$b|{O`b AmW«m}n°Wrer g§~§{YV Amho
4. gw‘mao 5% é½U AmW«m}n°Wr {dH${gV H$aVmV

10) Which among the following do NOT represents fact about psoriasis?

1. If one of the parents is affected, then the child has 50% chance of developing the disease

2. Cellular infiltrate is typically lymphocytic

3. Nail pitting is associated with distal interphalangeal arthropathy

4. About 5% of patient develop arthropathy

11) Q>°ZaMr àVdmar ______ da AmYm[aV Amho.
1. dm§{eH$ ôX^md 2. d` n[an¹$Vm 3. qbJ {^ÞVm 4. b¢{JH$ n[an¹$Vm

11) Tanner’s grading is based on ______.

1. Racial differentiation 2. Age maturation

3. Sex differentiation 4. Sexual maturation
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12) Imbrbn¡H$s H$moUVr {d{eï> aMZm gwemo{^V à{H«$ ò‘Ü ò dmnabr OmV Zmhr?
1. g§ajH$ 2. ~’$a 3. H$moaS>o H$aUmao EO§Q> 4. naâ ỳ‘

12) Which of the following is NOT a typical composition used in embalming procedures?

1. Preservative 2. Buffer 3. Drying agent 4. Perfume

13) Ho$gm§Mo JmobmH$ma H«$m°g-goŠeZ doJio H$aUmao d¡{eï²>` Imbrbn¡H$s H$moUË`m d§embm Xwgè`mnmgyZ doJio H$aVo?
1. ‘§Jmo{b`Z 2. {ZJ«mo 3. H$m°Ho${e`Z 4. Am°ñQó{b`Z

13) “Round” cross-section differentiating feature of hair differentiates which of the following race

from another?

1. Mongolian 2. Negro 3. Caucasians 4. Australian

8) àOZZg§ñWm
1) Zm`OobÀ`m gyÌmda AmYm[aV, àgyVr ‘w»`V… ______ nmgyZ gwê$ hmoVo.

1. Ano{jV VmarI 2. XmoÝhr ~mOybm 1 AmR>dS>m
3. 2 AmR>dS>o AmYr Am{U 1 AmR>dS>m Z§Va 4. 42 AmR>dS>çmV

1) Based on Naegele’s formula, labour starts mostly on ______.

1. The expected date 2. 1 week on either side

3. 2 weeks earlier and 1 week later 4. At 42 weeks

2) YmoH$mXm`H$ ßb°g|Q>m àopìh`m ho Zmd ______ ßc°g|Q>m àopìh`mbm {Xbo OmVo.
1. àH$ma I 2. àH$ma II 3. àH$ma III 4. àH$ma IV

2) Dangerous placenta praevia is the name given to ______ placenta praevia

1. Type I 2. Type II 3. Type III 4. Type IV

3) gd© ‘m¡pIH$ J ©̂{ZamoYH$m§Mo nyU©nUo {damoYm^mg AmhoV ........ dJiVm.
1) Cƒ aº$Xm~ 2) g{H«$` `H¥$V amoJ
3) hm`na{Q´p½bg[aS>o{‘`m 4) ‘mJrb ñQ´moH$ / W«moå~moBå~mo{bH$ KQ>Zm

3) All are absolute contraindications of oral contraceptive except .........

1) Hypertension 2) Active liver disease

3) Hypertriglyceridemia 4) Previous stroke/Thromboembolic event

4) Imbrb gd© H$maUo àgyVrÀ`m àma§̂ mMr H$maUo AmhoV.
1. J^m©e`mÀ`m VmUm‘wio J°n O§ŠeZ àmo{Q>Ýg, Am°ŠgrQ>mo{gZMo [agoßQ>g© dmT>Vo
2. dmT>bobr CRH - dmT>bobr ACTH - dmT>bobr H$mo{Q©>gmob
3. {S>hm`S´moE{n`mÝS´moñQ>oam°Z gë’o$Q> (DHEA - S) Mo dmT>bobo J ©̂ CËnmXZ
4. BñQ´moOoZ‘Ü ò ~Xb hmoÊ`mEodOr àmoOoñQ>oam°Z‘Yrb KQ> Amho - àmoOoñQ>oam°Z JwUmoÎma nrOr g§l²bofUmg H$maUr ŷV R>aVo

4) ALL of the following are causes for onset of labour EXCEPT:

1. Uterine stretch increases gap junction proteins, receptors for oxytocin

2. Increased CRH – Increased ACTH - Increased cortisol

3. Increased fetal production of Dehydroepiandrosterone sulfate (DHEA - S)

4. It is the fall in progesterone rather than alteration in the oestrogen – progesterone ratio causes

PG synthesis
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5) àgy{Vnyd© aº$òmdmMo gdm©V gm‘mÝ` H$maU ______ Amho.
1. J^m©e`mMr Vrd«Vm 2. OZZ|{Ð`mÀ`m ‘mJm©da AmKmV
3. {Q>H$dyZ R>odboë`m D$Vr 4. aº$ H$moA°Jwbmon°Wr

5) The commonest cause of Postpartum Hemorrhage is ______.

1. Atonicity of uterus 2. Trauma to the genital tract

3. Retained tissues 4. Blood coagulopathy

6) Imbrbn¡H$s gd© COUVELAIRE UTERUS Mr d¡{eï²> ò AmhoV.
1. ho bn{dboë`m A~«y{nAmo ßbmg|Q>mMm EH$ J§̂ ra àH$ma Amho
2. J^m©e`mÀ`m ñZm ỳ§‘Ü ò aº$mMm ‘moR>çm à‘mUmV A§V…òmd hmoVmo.
3. pñWVrMo {ZXmZ Ho$di b°namoQ>m°‘rÛmao Ho$bo OmD$ eH$Vo
4. {gPo[a`Z goŠeZ Xaå`mZ AmT>iboë`m H$m¡doboa J^m©e`mMr CnpñWVr {hñQ>oaoŠQ>m°‘rgmR>r EH$ g§Ho$V Amho

6) ALL of the following are characteristics of COUVELAIRE UTERUS EXCEPT :

1. It is a severe form of concealed abruptio placenta

2. There is massive intravasation of blood into uterine musculature up to serous coat

3. The condition can only be diagnosed on laparotomy

4. The presence of Couvelaire uterus as observed during caesarian section is an indication perse

for hysterectomy

7) Q>opñQ>Š ẁba Q>çy‘aMo d¡{eï²>`nyU© d¡{eï²>` Imbrbn¡H$s H$moUVo Amho?
1. Q>opñQ>gÀ`m go{‘Zmo‘m‘Ü ò Q>opñQ>Š ẁba doXZm
2. XyañW ‘oQ>mñQ>ogogMr AZwnpñWVr
3. Q>oamQ>mo‘mÛmao Aë’$m-’o$Q>moàmoQ>rZ Am{U H«$m°{ZH$ JmoZmS>moQ´m°{nZMm òmd
4. d`mÀ`m 60 dfmªZ§Va nrH$ KQ>Zm

7) Which of the following is characteristic feature of testicular tumor?

1. Testicular pain in seminoma of testis

2. Absence of distant metastases

3. Secretion of alpha – fetoprotein and chronic gonadotropin by teratomas

4. Peak incidence after the age of 60 years

8) b°Q>ab ~Q>m°H$ Q°́ŠeZ Mr MmMUr Imbrbn¡H$s H$moUË`m àH$aUmV Ho$br OmVo?
1. b¢{JH$ g§~§Ym§Mm Amamon 2. gmoS>mo‘rMm ~ir
3. ZoH«$mo{’${b`mMm Amamon 4. ZoH«$mo{’${b`mMm ~ir

8) The test of “lateral buttock traction” is done in which of the following case?

1. Accused of sodomy 2. Victim of sodomy

3. Accused of necrophilia 4. Victim of necrophilia

9) Imbrbn¡H$s H$moUVo SAFE ‘Ü ò Jmoim Ho$bo OmV Zmhr?
1. ~w̧ $b ñd°~ 2. JwXÛmamg§~§YrMm KmgUo
3. ZIo ñH«°$qnJ 4. Ho$gm§Mm Jw§Vm

9) Which one of the following is NOT collected in SAFE?

1. Buccal swab 2. Anal swab

3. Nail scrapings 4. Hair combings
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10) OÝ‘OmV {g{’$brgÀ`m g§e{`V àH$aUm§‘Ü ò "h{MÝgZ Q´m`S>' ‘Ü ò AndmX dJiVm gd© g‘m{dï> AmhoV :
1. ‘moR>çm A§Vamda Agbobo "noJ' AmH$mamMo XmV 2. Ý ỳamoZb ~{haonUm
3. B§Q>apñQ>{e`b Ho$am`{Q>g 4. Ho$amQ>moZg

10) The ‘Hutchinson’s triad’ in suspected cases of congenital syphilis includes ALL EXCEPT:

1. Widely spaced ‘Peg’ shaped teeth 2. Neuronal deafness

3. Interstitial keratitis 4. Keratonus

CÎmao : (13) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{̂ gaU, nMZ d CËgO©Z ñZm¶y d ApñW

1) MoVmg§ñWm
1-2 2-1 3-2 4-4 5-2 6-4 7-1 8-4 9-3 10-1
11-3 12-3 13-3 14-2 15-3 16-3

2) aº$m{^gaU, ídgZg§ñWm
1-3 2-3 3-3 4-3 5-3 6-1 7-2 8-2 9-4 10-4
11-4 12-1 13-2 13-2 14-2 15-3 16-3 17-3 18-2 19-1

20-3 21-3 22-3 23-3 24-3 25-2 26-2 27-3 28-3

3)nMZg§ñWm
1-2 2-4 3-2 4-2 5-2 6-4 7-3 8-1 9-4 10-3
11-1

4) CËgO©Zg§ñWm
1-4 2-4 3-3

5) ñZm¶y d ApñW g§ñWm
1-2 2-3 3-3 4-2 5-1 6-2 7-4 8-1 9-4 10-3
11-4 12-4 13-3 14-3 15-1 16-1 17-1 18-4 19-2 20-2
21-1 22-3 23-4 24-4

6) J«§Wr
1-2 2-1

7) AZwdm§{eH$Vm, amoJà{VH$maH$Vm
1-1 2-3 3-1 4-2 5-1 6-4 7-2 8-2 9-3 10-1
11-4 12-3 13-1

8) àOZZg§ñWm
1-3 2-2 3-1 4-4 5-1 6-4 7-3 8-2 9-4 10-4


